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QUESTION 1

You have been given responsibility for the non-functional testing of a safety-critical monitoring and diagnostics package
in the medical area. Which of the following would you least expect to see addressed in the test plan? 

A. Availability 

B. Safety 

C. Portability 

D. Reliability 

Correct Answer: C 

 

QUESTION 2

Which of the following is a white box testing design characteristic? 

A. To be based on specifications 

B. To be based on an analysis of the test basis documentation 

C. To be based on an analysis of the structure of the component or system 

D. To include both functional and non-functional testing 

Correct Answer: C 

 

QUESTION 3

Which of the following represents good testing practice for testers, irrespective of the software lifecycle model used? 

A. They should start test analysis when the corresponding development level is complete 

B. They should be involved in reviewing requirements or user stories as soon as drafts are available 

C. They should ensure the same test objectives apply to each test level 

D. They should minimize the ratio of deployment levels to test levels to reduce project costs 

Correct Answer: D 

 

QUESTION 4

Which of the following is NOT a valid objective of testing? 

A. Preventing defects from being introduced into the code 
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B. Investigating and fixing defects in the software under test 

C. Gaining confidence that the system is fit-for-purpose 

D. Providing information for stakeholders’ decision making 

Correct Answer: D 

 

QUESTION 5

Typically, exit criteria may consist of: 

A. Defining the amount, level of detail structure, and templates for the test documentation. 

B. Estimates of defect density or reliability measures. 

C. Adequacy of the test approaches taken. 

D. Discussions on disaster recovery. 

Correct Answer: B 

 

QUESTION 6

What would be a test approach regarding the test design techniques to be applied that would fit an item with the highest
risk? 

A. Component testing: decision testing; System testing: exploratory testing 

B. Component testing: decision testing; System testing: decision table testing 

C. Component testing: statement testing; System testing: equivalence partitioning 

D. Component testing: statement testing; System testing: decision table partitioning 

Correct Answer: B Scenario 6, V1 "Independent Test Team" 

Testlet 1 

XYZ is a Swedish company and the company language is local and all system development documentation is done in
the local language. 

As a test manager you are currently leading an independent test team of 4 people to system test the payroll
functionality. The 4 members of staff of described below: 

-

 John is one of the senior testers. He has been working for the company the longest and has a good network of
contacts. He is confident and tries to bring other team members together to promote team discussions. He is sometimes
considered to be manipulative and is often seen to delegate personal work. 

-
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 Sue is a senior tester. She always seems to be busy and often seems to have too much work to do. However, she gets
her work done, regardless of what it takes. She is often inclined to worry unduly and sometimes considered to be
argumentative and blunt. She is conscientious and searches out errors and omissions. She always delivers on time. 

-

 Steve is a tester. He is serious minded and often looks ahead. When he is given problems to solve he often looks at all
options before deciding. He needs to be a little bit more diplomatic though in his approach to other people because his
attitude often has a negative affect when trying to inspire others. He is good person discuss ideas with. Steve used to
work as a business analyst on the payroll department. 

-

 Vicki is a test analyst. She is the newest member of the team and has been employed for her automation skills. Vicki is
shown to be dedicated to automation, having spent the past 5 years developing the necessary skills in automation tools.
Her view on testing seems too limited; she believes automation is the only way forward. 

Both John and Sue are highly experienced at finding defects based on their experience with the system and domain
knowledge. 

 

QUESTION 7

A washing machine has three temperature bands for different kinds of fabrics: fragile fabrics are washed at
temperatures between 15 and 30 degrees Celsius; normal fabrics are washed at temperatures between 31 and 60
degrees Celsius; heavily soiled and tough fabrics are washed at temperatures between 61 and 100 degrees Celsius. 

Which of the following contains only values that are in different equivalence partitions? 

A. 15, 30, 60 

B. 20, 35, 60 

C. 25, 45, 75 

D. 12, 35, 55 

Correct Answer: C 

 

QUESTION 8

Which of the following accurately defines the integration testing test level? 

A. Test basis includes software and system design, test objects include interfaces, and tests concentrate on the
interactions between different parts of a system 

B. Test basis includes component requirements, test objects include database modules, and tests concentrate on the
behaviour of the system as a whole. 

C. Test basis includes business processes, test objects include system configuration and configuration data, and tests
concentrate on establishing confidence in the system 

D. Test basis includes use cases, test objects include user procedures and tests concentrate on a high level model of
system behaviour 
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Correct Answer: A 

 

QUESTION 9

Acceptance test cases are based on what? 

A. Requirements 

B. Design 

C. Code 

D. Decision table 

Correct Answer: A 

 

QUESTION 10

Which of the following BEST describes the relationship between test planning and test execution? 

A. Test planning ensures the level of detail in test procedures is appropriate for test execution 

B. Test planning schedules test execution but does not assign resources 

C. Test planning defines the overall approach to testing but does not schedule specific activities such as test execution 

D. Test planning identifies test objectives related to scope and risk but does not define the level of detail for test
procedures used in test execution 

Correct Answer: A 

 

QUESTION 11

Which of the following statements BEST describes one of the seven key principles of software testing? 

A. Automated tests are better than manual tests for avoiding the Exhaustive Testing. 

B. Exhaustive testing is, with sufficient effort and tool support, feasible for all software. 

C. It is normally impossible to test all input / output combinations for a software system. 

D. The purpose of testing is to demonstrate the absence of defects. The purpose of testing is to 

demonstrate the absence of defects. 

Correct Answer: C 

 

QUESTION 12
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A new system is about to be developed. Which of the following functions has the highest level of risk? 

A. Likelihood of failure = 20%; impact value = £100,000 

B. Likelihood of failure = 10%; impact value = £150,000 

C. Likelihood of failure = 1%; impact value = £500,000 

D. Likelihood of failure = 2%; impact value = £200,000 

Correct Answer: A 

 

QUESTION 13

Why might a RAD approach be a better option for the test manager rather than a sequential development? 

A. It will extend the development team\\'s abilities and enhance future delivery capabilities. 

B. It will allow the marketing, clerical and testing staff to validate and verify the early screen prototypes. 

C. Time-box constraints will guarantee code releases are delivered on schedule. 

D. More time can be spent on test execution as less formal documentation is required. 

Correct Answer: B 

 

QUESTION 14

A test case starts at S1 and triggers 4 events in sequence: E1, E4, E5, E7. What will be the finishing state and the
output(s) from the test case? 

Refer to the exhibit 
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A. S2 and O4 

B. S4 and O2 

C. S4 and O4 

D. S2 and O2 

Correct Answer: D 

 

QUESTION 15

The purpose of requirement phase is: 

A. To freeze requirements 

B. To understand user needs 

C. To define the scope of testing 

D. All of the above 

Correct Answer: D 
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